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ROUND1-G1
JIE {57 4 Hi E_4 IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T 6A [ 7T 7A | TEC  ATH Total
1 PErH i NyHA LA (7.6) 8.0|7.6 7.8|7.8 (7.4|(8.4) (8.6)| 8.0 7.8 16.38 7.08 23. 46
2 |&E Hhr Frhy (7.8) 7.4 |(1.2) (71.2)| 7.6 (7.6)[ 7.8 7.6 | 7.8 7.6 16.24 6.78 23. 02
3 |ppdE Fr by 6.8) 7.27.0 72|74 (1O|(7.6) (7.8 7.4 7.2 15.26 6.48 21. 74
4 R RAE DAV 6.8) (6.4)|(7.2) (7.0)| 7.2 6.8 7.2 6.8|7.0 7.0 14.98 6.18 21.16
5 |OtEE £ Nyt A 2 A 7.0 6.4|7.0 7.2|(76) (7.97.2 7.2[6.4 (6.2 14.84 6.24 21.08
6 |JIE WHE D (6.6) (6.0 6.8 6.8|6.8 6.8[(7.4 (7.2)] 7.2 6.8 14.56 6. 12 20. 68
7T ESI A5 D N (6.4) (6.2) 6.6 6.4 [(7.0) (7.0)| 6.8 6.6 6.8 6.2 14.14 5.76 19.9
8 MM HEZ N ATE (6.2) 6.6 |(6.8) 6.6 6.6 (6.8)] 6.4 6.6]6.6 (6.2 13.72 5.94 19. 66
9 |HE (0.0) (0.0)[€0.0) (0.0)[ 0.0 0.0]0.0 0.0[0.0 0.0 0.0 0.0 0.0
ROUND1-G2
JEAE 4 Hif ¥4 IT 1A | 2T 2A | 3T  3A | 4T 4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC  ATH Total
1 [k ZHie NI A (8.2) 8.0|8.2 (82][(7.6) 7.8|7.6 (7.49|7.6 7.8 16.38 7.08 23. 46
2 % EE Ay 7.4 (1.2)(7.2) 7.4 7.4 (71.6)| 7.4 7.2 [(7.8) 7.6 15.54 6.66 22. 2
3 |REER Ty N (7.0) 7.2 |(7.6) (1.4 7.2 (1.0)[ 7.0 7.0|7.6 7.4 15.26 6.48 21.74
4 |HEE RLIE A (7.4) 7.2 7.2 (1.4 6.8 7.2|(6.4) (6.2)] 6.8 7.4 14.56 6.54 21. 1
5 |luA mEE NI A 6.6) (6.4 7.0 (7.0)|(7.2) 7.0 7.0 6.6 7.2 6.8 14.84 6.12 20. 96
6 |TFA K NI A (7.6) 7.2 7.4 (1.4] 6.6 6.8](6.0) (6.2)| 6.6 7.0 14.42 6.3 20. 72
7T |BEH RHE DN (6.8) 6.6 ] 6.8 (6.8)|(7.0) 6.8]6.8 6.8]6.8 (6.4) 14.28 6.06 20. 34
8 |BtEAH EHI (0.0) (0.0)](0.0) (0.0)] 0.0 0.0 0.0 0.0[0.0 0.0 0.0 0.0 0.0

ROUND1-G3
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JIE {57 4 Hi E_4 IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
1 [ LxX T UEA 7.8 (8.0)|(7.4) (7.6)|(8.2) 8.0 7.6 7.8|[7.8 1.6 16.24 17.02 23. 26
2 |RvE FiR NS AVE (7.2) 7.417.6 7.4]8.0) (7.8)] 7.4 (71.2)| 7.4 7.6 15.68 6.72 22. 4
3[R B T UEA (7.6) (7.4)| 7.2 (6.6)| 7.6 7.4 |(6.6) 6.6 7.4 6.6 15.54 6.18 21.72
4 MWexrR aER A 7.0 (7.0)|(6.4) 7.0[7.2 (71.6)[ 7.2 7.0[(7.4) 7.2 14.98 6.36 21.34
5 |REm KE FhU (7.4) (71.0)| 7.2 7.0 6.8 7.0]|(6.4) (6.2)] 7.0 6.6 14.7 6.18 20. 88
6 |ThN WETY A (6.6) 6.6 6.8 6.6][(7.0) (6.8)] 6.6 (6.4)| 6.8 6.8 14.14 6.0 20. 14
6 |FEEH #HEH DAV (6.6) (6.4)] 6.6 6.4 |(7.2) (7.2)| 7.0 6.8 6.6 6.8 14.14 6.0 20. 14
8 |BiEs BH (0.0) (0.0)](0.0) (0.0)f 0.0 0.0[0.0 0.0]0.0 0.0 0.0 0.0 0.0
8 |HFS AEK (0.0) (0.0)](0.0) (0.0)f 0.0 0.0[0.0 0.0]0.0 0.0 0.0 0.0 0.0

ROUND1-G4

JEAE 4 Hif ¥4 IT 1A | 2T 2A | 3T  3A | 4T 4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC  ATH Total
L PRA A Nyt A2 A 7.8 (8.0) 8.0 (7.4)[(7.6) 7.8 [(8.2) 8.0[8.0 7.8 16.66 7.08 23. 74
2 I xR A (7.6) (1.49)](7.0) 7.4 7.2 (1.0)| 7.6 7.4|7.2 7.4 15.4 6.66 22. 06
3 g NI A 7.4 (1.2 7.4 7.2 7.4 7.2](7.6) 7.2](6.8) (6.4) 15.54 6.48 22. 02
4 |K3E 8 iV 7.0 6.8](6.8) (6.4 7.0 6.8](7.6) (7.4 7.0 7.2 14.7  6.24 20. 94
5 IR NI A 7.2 7.0(6.8) 7.2(6.8 (6.4)[(7.6) (8.0)] 6.8 6.6 14.56 6.24 20. 8
6 |70 BB NI A 6.8 6.6[(6.4) 6.6]6.8 7.0/|((7.2 (7.2)| 6.4 (6.0) 14.0 6.06 20. 06
T |BEH EdE Fr by (6.8) 6.6 |(6.6) (6.2 6.6 6.4|6.8 (6.8)|6.6 6.4 14.0 5.82 19. 82
8 [#k DM A 6.2 6.0 (5.8 6.0[6.2 (5.8)[(6.4) (6.2)] 6.0 6.2 12.88 5.46 18. 34

ROUND2-G1

[ Ef7 | 4 il | ¥ 4 [ 17 1A [ 2r 2a]3r 3a] 4t 4a | 57 s5A [ 67 ea [ 71 7A | TEC  ATH | [Total]
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1 [k ZHe U vay (7.2) 7.6 7.6 7.8|7.4 (7.4)]B.2) (8.2)| 8.0 7.8 16.1 6.96 23. 06
2 |BrH K =R (7.8) (8.0) 7.4 |(7.2) (6.8)| 7.8 8.0 7.2 7.0 15.82 6.72 22. 54
3 |&I Fhr A 7.4 (1.6)|(7.2) (1.2)[ 7.6 7.2 [(7.8) 7.6 7.4 7.2 15.68 6.6 22. 28
4 | EE T r (7.0) (6.6)| 7.2 7.0 7.2 7.0[(8.0) (7.6)] 7.6 7.2 15.4 6.36 21.76
5 |BREF Y T E (7.2) (6.4 7.0 6.8](6.4) 6.6]7.2 (7.2)] 6.6 6.4 14.56 5.94 20.5
6 |ppiE & =X — 6.4) 6.0 6.6 6.4|6.6 6.4](7.4 (7.2)[7.0 6.8 14.14 5.88 20. 02
6 |HEE AL A (6.6) 6.4]6.8 (7.0 6.6 (6.2)|(7.0) 6.6 | 6.8 6.6 14.14 5.88 20. 02
8 BRI v ay (5.6) 6.26.4 6.2]|6.4 (5.6)](6.8) (7.0 6.0 5.8 13.16 5.46 18. 62
ROUND2-G2
JIEf 4 Hi ¥ 4 1T 1A [ 21 2a [ 3r 3a]4r 4a | 57 s5a | 6T 6A [ 7T 7A [ TEC ATH Total
1 PRA A5 ==/ R 8.0 (7.6)[ 8.0 7.8[(8.2 B 4)|(7.6) 7.6]7.8 8.0 16.66 17.02 23. 68
2 |HEE LxE T E 7.2 7.6 |(6.4) (6.8)|(8.0) (8.2)7.8 80|74 7.8 15.68 17.02 22.7
3| Fjk Ea = (7.6) 7.4 7.4 (1.6)[ 7.6 7.4|7.4 7.4]@6.8 (7.2 15.68 6.66 22. 34
4 |8K & S = (6.6) (6.4 7.0 6.8 [(7.4) (7.2)| 7.2 7.2 7.4 1.2 15.12 6.36 21. 48
5 I oZFH v 7.2 6.8 |(7.4) (6.2)| 7.4 (71.4)](6.8) 6.8 7.2 7.0 15.26 6.18 21. 44
6 | KE By S = (7.4) (1.0)[6.0) (7.0)| 7.2 7.0| 7.0 7.0]6.8 7.0 14.7 6.3 21.0
(O U0 NP5 2 S = 6.8 (7.2)[(7.0) 7.0 6.8 7.0]|(6.6) (6.8 7.0 6.8 14.42 6.24 20. 66
8 |AE & T F 6.6 (6.8) 6.8 (6.2)[ 6.6 6.6[(6.4) 6.4[(7.0) 6.8 14.0 5.94 19. 94
SEMI FINALS-G1
JEA 4 Hi ¥4 IT 1A | 2T 2A | 3T  3A | 4T  4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC ATH Total
1 PErH 5 FyHo¥ T r—%rr—|8.2) (1.8)|(7.6) 7.8 7.8 (1.6)| 7.8 7.6 7.6 7.8 16.24 6.96 23.2
2 A FHa AV a2y ay 7.6 (1.2)[(7.4) 7.4 7.4 7.4|(7.8) 7.6 7.8 (8.0) 15.96 6.72 22. 68
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3 |Bl #T T a2y (1.6) 7.2 (7.0) (6.8)| 7.4 T. | 7.4 7.2|7.4 7.0 15.54 6.42 21. 96

4 (% EEHF TVayvRay (7.4) 7.0 (.6) (6.8) 7.2 (7.2)| 7.2 7.0 7.0 6.8 14.98 6.24 21.22

SEMI FINALS-G2

JIEA £ Hi ¥ 4 IT 1A | 2T  2A | 3T  3A | 4T  4A | 5T  5A | 6T  6A | 7T  7A | TEC ATH Total
I [RAR A A== 1) g (7.6) (7.6)] 8.0 (8.2)|(8.2) 8280 82|80 8.2 16.8  17.38 24. 18
2 |BA Lxr¥E A — 7.8 (1.40)|(7.4) 7.4](.0) (8.0 7.6 7.8[7.8 7.8 16.24 6.9 23.14
3 | Ak =Ry A = By 7.2 (1.6)]6.8) (1.0)|(7.6) 7.6 | 7.4 7.2|7.4 7.2 15.4 6.6 22.0
4 |k & T2k gy (7.4) (7.6)|(6.6) (6.8) 7.4 7.4 7.2 7.0[7.2 7.0 15.26 6.42 21. 68
JIEAE £ i e 4 IT 1A | 2T 2A | 3T  3A | 47 4aA | 5T  5A | 6T  6A | 7T  7A | TEC ATH Total
1 AR 2 A — 8.0 BT (7.0 7.6 7.8176 T7.4(76 7.4 15.96 6.78 22.74
2 |y FHig VN (7.0) 7.2 1 7.2 7.4|(.4) (1.6)| 7.4 7.2]7.4 (7.0) 15.4  6.54 21.94
JIEAT. £ Hi ¥ 4 IT 1A | 2T  2A | 3T  3A | 4T  4A | 5T  5A | 6T  6A | 7T  7A | TEC ATH Total
1 |FEs xX TVayiRay (7.2) (1.4)|(7.8) (7.8)| 7.8 7.8| 7.6 7.4|7.6 7.6 16.1 6.84 22.94
2 |8l #hr k- (7.0) 7.2 |(7.6) (7.0)] 7.6 (7.H| 7.4 7.2 7.4 7.2 15.68 6.48 22.16
JIEAE £ i ® 4 IT 1A | 2T 2A | 3T  3A | 47  4aA | 5T  5A | 6T  6A | 7T  7A | TEC ATH Total

I E T N T—F (8.2) (8.0)|(8.4) (7.8)|(7.2) (7.0)|(7.8) 7.6 7.8 (7.4 8.0 7.8 7.8 7.6]16.52 6.9 23.42
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6.6 22.42

(8.0) (7.6)|(7.2) (7.0)|(7.4) 7.6 | 7.4 (1.2)| 7.6 7.2 7.6 7.2]15.82

2 |FH X A== g (8.0) (7.8)




